
Question 1 

Question text 

A minimum of 75% of male working population involved in agriculture and allied activities 

under rural area 

Select one: 

True 

False 

Question 2 

Question text 

NSSO has adopted a different definition of ‘Urban’ than the Census 2011: 

 

Select one: 

True 

False 

Question 3 

Question text 

Mass media has brought about changes in urban and rural landscape: 

 

Select one: 

True 

False 

Question 4 

Question text 

Land reforms measures are not sufficient measures to alleviate poverty 

Select one: 

True 

False 

Question 5 

Question text 

As a result of rural-urban nexus, what is the total of class-I towns? 



Select one: 

i. 497 

ii. 496 

iii. 400 

iv. 498 

 


